ASSIGNMENT — 1( BASIC) ON COMPLEX NUMBER
SECTION — A ( Onemark Questions)
Multiply ¥2 + i in to its conjugate.
Find real x and y, if (x —1iy) (3 + 51) is the conjugate of — 6 — 24i

Find the multiplication inverse of V3 - i

The standard form of (1 —i)3 is ......

5. 14 i% 4+ i10 — i15 j§ --mo-

6.The modulus of (1 —2i)73 is ...

7.The the principal argument of the complex number -i is ......
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_1 1+ 1+i
7z ©OF 5
SECTION — B (Two marks Questions)

9.Prove that (2+3l:j (2_3l:j is purely real
34+4i)\3-4i

10.If a+1ib :C—H: , prove that a°+ b’ =1 CO ‘U\‘
Cc—1
l-4n+1 _ l-4n—‘1 tesa\e .

11.What is the value of O

12.Express (}— ilqz‘jx Eg—‘ji\l to a-bgbi f@q" ?)

1
(e\, \é S I Four marks Questions
13WFind the modulus and drgument of the % complex numbers and convert

8. Square root of ‘I’ is  (a) % (b)

them in to polar form .

14. Write the real value for which ﬂ is purely real
1+ 2isin @
: j b _ 2
15. If a+ ib = C—+l where a, b, ¢ are real , prove that a’+ b*=1 and =3 Cl
Cc—1 -

(1+i)x—2i+(2—3i)y+i _;

16. Find the values of x and y if
3+i 3-i




